Auxiliary Problems for Chapter 10
1.
List four sources of leakage from the circular flow in an economy. How does a simultaneous increase in imports and increase in business saving affect the circular flow?
2.
What does inventory depletion suggest about future inflation?
3.
If the consumption function is C = $400 + 0.75 Y

a) 
What is the saving function?
What is the desired rate of saving when disposable income equals:
b)
$1,000
c)
$2,000
d)
$3,000

4.
Given the consumption function above, what is this economy’s multiplier?

5.  Assume an economy’s marginal propensity to consume (MPC) is 0.80 and   

     autonomous investment spending dropped by $20 billion due to poor business  

     expectations. What will most likely happen to equilibrium real output?
6.
The accompanying graph depicts a macro equilibrium. Answer the questions based on the information in the graph.

a) 
What is the equilibrium rate of real GDP?
b)
If full-employment real GDP is $300 billion, what problem does this economy have?
c)
How large is the real GDP gap?
d)
If the multiplier were equal to 5, by how much should consumption decline to close the GDP gap?
e) What happens to prices when aggregate demand decreases by the amount of the initial GDP gap?
f) Is full employment restored by the AD shift?
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